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SR SECTION—A!IO Marks[ o 7
: Answer ALL questions. :
ALL questions: carry EQUAL marks - (10x 1=10) 7,
1. - Statistics deals withonly | . '
- i) Quantitative data @) Qualitati\(e data
- (iii) Both (i) and (i) - @iv) Neither (i) nor (i)
2. Statistical results are - E | S
- i) Almostcorrect - - (ii) Average only -
,(111) Both (1) and (n) - (iv) Neither (i) nor (ii)

- 3. Findthe medlan of the call received on 7 consecutlve days 10,20,30, 40 50,60, 70

i) 30 (n)40 ” (111) 0 (1v) 60

. 4 Find the Mode if median is 50 and Mean is 50

i) 30 o (11)40 S (111)'50> . ~ (iv) 60

" 5. Whichis the suitable measure when the class interval is open class mterval

i) Mean ' (11) Median o ' (111) Mode (iv)None of the above

6. What is skewness when the Mean, medlan and mode are equal

1L

12

By <3 @ (111)3 T @wo

7. Time series is a Set of data recorded , . N IR
i) Periodicall - (ii) on time intervals , (iii) space intervals (iv) all the above

8. The long term fluctuation measured by using

- i) Seasonal variation = - (i) Irregular varratron '
- (iii) Secular trend ' - v Moving average
9. The Random ﬂuctuatron is termed as L o .
‘i) Seasonal variation - (ii) Irregular variation
 (iii) Secular trend o w) Mov1ng average
10. The random vanatlon in the manufactured product is
i) Controllable - -7 (ii)) Not controllable

~ .(ii)Both (@) and () ~ (iv) Neither (a) nor (b)

SECTION B (35 Marks)
‘ - Answer ALL Questions
ALL Questions Carry EQUAL Marks 5x7= 35)
a) Explaln anary and Secondary Data. '
' (OR) S '
b) Deﬁne Statlstlcs and State any 3 pomts of hrmtatlons of Statlstlcs

a) Fmd the Medran of the followmg frequency dlstnbutlon

. Daily wages (1n Rs.) :Less than 200 200- 250 250-300 300—350 350—400 400
above - :

. Frequency - 15 ; 1‘5'7 20 ,__,30 - 2OV 8

| (OR)
b) Find the mean median and mode for the following data . .
18, 20, 12, 14, 19, 22, 26, 16, 19, 24,12, 14, 19, 22, 26
3 o ’ : Cont...



Page 2

18CDU22
. o o : ' x , - Cont...
13.  a) b) Find the standard deviation from the following distribution: _
- | Age (years) 20-25 | 25-30 | 30-35 | 35-40 | 40-45 | 45-50 | 50-55
No. of employee 29 | 46 | 60 | 112 | 94 45 | 21
(OR)

b) Explam the followmg i) Coefﬁclent of Drspersron if) Coefﬁci'eﬁt of Variation.

14, | , a) Find the pearson s coefficient of Skewness for the following frequency dlstnbutron -
| Annual sales(In ‘000 Rs) | 0-20 20-40 40 60 60-80 | 80-100 lOO—l2O

No ofitems , 20- | 50 59 | 30 | 25 16
. - (OR)
b) Define T1me Serres and Explaln the Method of Slmple Averages -

15, ‘ | a) The following ﬁgures are the productlon data-of a certain factor manufacturmg air
___conditioners.

Year 2000 | 2001 | 2002 | 2003 | 2004 {2005 | 2006 | 2007 | 2008 2009 2010

Production | 17 | 20' 19 | 26 | 24 | 40 | 35 55 | 51 74 79
(‘000Units)

Fit the second degree parabohc trend curve to the above data and obtaln the trend values
(OR) ' -
: b) leferentlate between product and process control in SQC?

SECTION C (30 Marks) /
Answer any THREE Questions

_ ALL Questions Carry EQUAL Marks 3x10= 30)
- 16. Draw less than and more than ogive for the followmg data and to determine the median.
Marks = | 20-29 | 30-39 40-49 50-59 | 60-69 | 70-79 | 80-89 | 90-99

No.ofStudents 7o |24 |2 9 | 14| 2 |1

17. Flnd the mean, medran and mode for the followmg data -
‘Class | 1-10 | 11-20 | 21-30 | 31-40 | 41-50 | 51-60 | 61-70 | 71-80 | 81-90 | 91-100

Frequencyfa 7 ||| 2|w] 8] 8|6 6

18. Caleulate the coefﬁeient of variation for x and y for the following data and interpret it.

Groupl (X) | 10 [ 26 [ 33 | 46 | 1720 [ 25
Group2 (V) [ 19 (222627 [ 29 [33 [37

19. Calculate the Seasonal variation indices by the method of S1mple averages for the followmg '
‘ data

Q'uaftea‘ 2012 | 2013 | 2014 | 2015 | 2016
T Q 45 | 48 | 49 | 52 | 60
Q | 54|56 | 63| 65| 70
Q | 72| 63|70 | 75| 84
Q. | 60 | 56 | 65 | 72 | 66

-20. Construct a control chart for mean and the range for the following data on the basis of fuses,

- samples of 5 bemg taken every hour. Comment on whether the productlon seems to be under :
control, assuming that these are the first data v : :
SampleNo 1123|4567 (8]9|10]11]12]

' Xy 42142 170136|42149|58113|67|51|60]|15
X, |64145|65|54|51|72|58|88]|76|74 60|90 |
X3 75168 80|69 |57[73|169|37(94|75|72]39
X4 78 |72 |81[77(59|76|93|59|56|78|95]|62
Xs 64 485261 (53(54|69]|60|71|56]|71]62
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